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That shirt is ________.

Answer: ___________________

These shoes are ________.

Answer: ___________________

The jacket is ________.

Answer: ___________________

The dress is ________.

Answer: ___________________

The pants are ________.

Answer: ___________________

The hat is ________.

Answer: ___________________

The bag is ________.

Answer: ___________________

The watch is ________.

Answer: ___________________

The sunglasses are ________.

Answer: ___________________

The scarf is ________.

Answer: ___________________



Answers

That shirt is ________.

Answer: nice

These shoes are ________.

Answer: comfortable

The jacket is ________.

Answer: expensive

The dress is ________.

Answer: beautiful

The pants are ________.

Answer: tight

The hat is ________.

Answer: fashionable

The bag is ________.

Answer: stylish

The watch is ________.

Answer: elegant

The sunglasses are ________.

Answer: trendy

The scarf is ________.

Answer: warm


